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Hel™ AOE

= A2LEY EIHE) M= | =y 2= & Ef AE AL EN
1 |DAHREREH |EEF(56;, Of; 800) 10,000 10000 HE2ts 50l
2 |IHRETEYH  |AdAE@23; o; 800) 10,000 10000 HEet= 50l
3 |DEQEREHE  |0]8{0|(31; o; 1700)  [10,000 10000 HEetR ad
4 |DHHRQERZSH XY= 46; O; 1257) (10,000 10000 = 50l
5 |EEZEIESSY||Z248(54; o; 1257)  [10,000 10000 HEet= 50l
6 |RESEETES|BEYUBGS O; 1257) 10,000 10000 HE2E 50l
7 |MYEIRETZ | EAHE4; o; 1243)  |10,000 10000 HEet= 50l
8 |MYEITLESTH (Z=3H51; 0f; 1100) {10,000 10000 HEetz 50l
9 [AENFEFTESZIHAS(57; O; 1357)  [10,000 10000 HEetE 50l
10 [2ENFEFS2IA3[+=(51; O, 771) 10,000 10000 HREE a4l
11 g2d M8 M46; O; 1180) 10,000 10000 HE2= 50l
12 |[E5Ed SOHXKG52; Of; 1417)  |10,000 10000 HEetE 50l
13 |MFEFS=2 |2EBZ@7; 04; 1700)  |10,000 10000 HEtE 50l
14 |ZZE1EST3]  (2H™2N(58; 0f; 769) 10,000 10000 HEtE 50l
15 |$HEYF RAIY(58; O; 607) 10,000 10000 HE2t= 50l
16 |StEEF =49|47; o: 1410)  [10,000 10000 HEtE 50l
17 (BHEQEREE  |10/M@46; Of; 1410) 10,000 10000 HEet= 59l
18 [SIHQEIRZ [HIAE(50; Of; 758) 10,000 10000 g5t 50l
19 |sHEQEAEE  |E30[50; 6; 1180)  |10,000 10000 HREE 50l
20 [HEYEEE |0 RI(29; O; 2300)  [10,000 10000 HEetE 50l
21 |SHEEEMEE (X8 3](57; Of; 824) 10,000 10000 HEets 50l
22 [SHEIEEFEE  |20[A(57; o; 710) 10,000 10000 HE2t= 50l




HolM BOAE

= AHEE E7HE) M= EH7H| =l U A EY A A ER
1 |KEHEE L24(57; o; 500) 10,000 10000 HEtE 52l
2 |KEIE2E st=2=(55; Of; 500) 10,000 10000 HEg= 50l
3 |EEFEFEE  |ZYUF(51; o; 500) 10,000 10000 HRetE 59l
4 |ZBEFEFEE [0I5F47; o, 500) 10,000 10000 HReE 50l
5 |[E2fUE ZEY(57; o; 500) 10,000 10000 HEAE 59l
6 |Zd2a0LE = 2U(57; of; 500) 10,000 10000 HEQtE ¢l
7 |ZXREREE  |AZA0[43; 0f; 500) 10,000 10000 HEetz 59l
8 |ZXYEIFEH |HFEAE5 o; 559) 10,000 10000 HE2AR 52l
9 |ZXREIAEH [22H(49; 0f; 600) 10,000 10000 HEAE 50l
10 [Z20At T HOH(49; Of; 489) 10,000 10000 eetg 59l
11 |d2A%t 0| ¥=(49; 0f; 576) 10,000 10000 HEQtE 50l
12 |ZALTTSE3|  [0|HEKS56; 0; 800) 10,000 10000 HEetE 50l
13 |ZXETTS=22]  |*HS=(63; O; 500) 10,000 10000 HEe= 50l
14 |H=E 4743 (04; 500) 10,000 10000 HEE 59l
15 |F=Y LAM(60; o; 500) 10,000 10000 HEe= ad
16 |2Hds|EfE2E  |0|2E(63; Of; 458) 10,000 10000 = 50l
17 |2Hds|Ef 28 |01 0(62; O; 500) 10,000 10000 HE2tE 59l
18 |ArUEIE S| (240|445 Of: 689) 10,000 10000 HEAE 50l
19 |[tIYEIFE22 |EEE(60; Of; 800) 10,000 10000 HEotR 50l
20 |MAZ2S=2| | Zd&AO0H60; Of; 500) 10,000 10000 HEAR ¢l
21 |MAZELS=3] |28 H(62; 9; 500) 10,000 10000 L] &0l
22 |2HHFEFE2IZFXH51; Of; 500) 10,000 10000 HE2tE 50l
23 |AEXNFEES39EE (49; Of; 500) 10,000 10000 HE2AR ¢l
24 |ATXNFEITFS23R0(SH51; 0f; 500) 10,000 10000 HEetz 59l
25 |AEXFEESSIBIE=(57; Of; 800) 10,000 10000 HEg= 50l
26 |AMZEH A28 (56, Oof; 513) 10,000 10000 HEetz 50l
27 |MZET SH2(56; o; 659) 10,000 10000 HRotg 50l
28 |BFEIR T 40| H(54; o; 500) 10,000 10000 HE2AR a4
29 |BFERZ 2%"%(53,- of: 500) 10,000 10000 HEAR ¢l
30 |BEEMSSS|  |Za3(68; Oof; 500) 10,000 10000 HEE 59l
31 |BEETs=3 | ABRH67; Of; 500) 10,000 10000 HEetE 50l
32 |BEETs=2 | HX|J(56; Of; 500) 10,000 10000 HEAR 50l
33 |BEHEREZZ |925|(56; O; 500) 10,000 10000 HEAR 59l
34 |HFEHs=2 | d235((63; of; 500) 10,000 10000 HEg= 50l
35 |HFEs=3 |23%(61; Of; 800) 10,000 10000 HRetE 50l
36 |MFEs=2  |TI4E(65; Of; 800) 10,000 10000 HEotR 50l
37 |Z=MEfLES3|  |DCHR(23; Of; 500) 10,000 10000 HEetE 59l
38 |ZHEIREZR | AA(23; o; 500) 10,000 10000 HEe= 50l
39 |EENE=23 4 Md35|(48; 0f; 500) 10,000 10000 HE2tE 59l
40 |EENE2T " A H(54; 0f; 500) 10,000 10000 HEotg 59l
41 |EEHE Y R3|%(50; Of; 800) 10,000 10000 HEQtE 50l
42 |EFALE ZEM(64; Of; 500) 10,000 10000 HER Eadl
43 [EFTAR A E(61; of; 500) 10,000 10000 HEE ¢
44 |EHLHESE Z-20](40; o; 500) 10,000 10000 HE2AR 59l
45 (BtL=8F st5|H(51; of; 500) 10,000 10000 HEtZ 50l
46 |EeEts=23 =='4(63; o; 500) 10,000 10000 HE2A= 52l
47 |EFEIE S 3 = W3|(62; Of; 500) 10,000 10000 HEAE 50l




48 |HBETE=Z3| [P M(72; Of; 800) 10,000 10000 HEe= 50l
49 |HIBEITFE23| |S-=46 Of; 687) 10,000 10000 HEE Ed
50 |HEEHE=3  [YdEH 64 Of; 500) 10,000 10000 HEtE g
51 |ZZERESY (e (64; Of; 500) 10,000 10000 HEAE 50l
52 |H3BETHE=2 [WDF42; O 620) 10,000 10000 HE2tE 50l
53 [stalmax 2 X|34(50; Of; 528) 10,000 10000 HEAE 50l
54 |stalmsm O|X|=5(43; 0f; 590) 10,000 10000 HEAE 52
55 |SHRIX|F Z73(53; 0f; 500) 10,000 10000 gtz 50l
THEELES 518 &41; o; 500) 10,000 10000 HEAE 50l
57 [SHEQEAEEH |ZEE46 O; 500) 10,000 10000 HEetE 50l
58 |oHIQEIRAEE (Z0|E44; O, 567) 10,000 10000 HEQE 50!
59 [SHYQYEIREY |2 XIH43; 0f: 500) 10,000 10000 HEetz e
60 [SHEFEIASE |WdZ46; 0f; 800) 10,000 10000 HEQtE 50!
61 [SHEFEREE [FE0|(50; 0; 500) 10,000 10000 HEet= 50l
62 [HEFEREH |[8F4(63; 0 1100) 10,000 10000 gtz 50l
63 [SHIYETEH |0|F=H49; 0f; 500) 10,000 10000 HEetE &0l
64 |PHIYEIHZEE |27t 36; Of; 500) 10,000 10000 HEAR 50l
65 |S&BAN 0|2 (57; ¢; 500) 10,000 10000 HEtE a4
66 |ZHN O|H F(57; 04; 500) 10,000 10000 HE2tE d




